

第8表 品目別、産地別月別取扱数量および金額（野菜）（つづき）

（上段数量（k g）中段金額（円）下段単価（円））

	品名 産地	総計	1月	2月	3月	4月	5月	6月	7月	8月	9月	10月	11月	12月	
	花き類														
	22年	95,672 46,642,240 488	2,430 2,138,643 880	3,034 1,820,339 600	5,847 3,440,804 588	4,924 2,768,887 562	17,002 7,812,443 460	14,067 3,190,994 227	10,412 3,741,911 359	11,823 6,150,333 520	8,970 4,346,102 485	5,140 2,738,057 533	4,244 2,511,200 592	7,779 5,982,527 769	
	23年	76,064 36,433,801 479	3,433 1,708,198 498	3,404 1,703,750 501	5,348 2,604,776 487	5,785 2,324,579 402	16,019 6,084,843 380	6,283 2,884,850 459	5,818 2,471,840 425	9,987 4,614,669 462	6,560 2,946,184 449	3,646 2,514,261 690	3,858 2,110,114 547	5,923 4,465,737 754	
	24年	54,586 27,572,807 505	3,716 2,000,647 538	2,676 1,430,806 535	3,541 1,917,688 542	3,290 1,621,297 493	10,525 4,198,978 399	4,007 1,443,920 360	5,332 1,739,290 326	6,414 3,109,656 485	4,533 2,191,920 484	4,331 2,089,492 482	2,391 1,550,621 649	3,830 4,278,492 1,117	
1	北海道	49,240 12,809,481 260	2,889 764,350 265	2,237 407,373 182	2,932 469,981 160	3,022 377,835 125	8,990 2,197,046 244	3,668 603,487 165	5,174 923,473 178	5,946 1,736,695 292	4,375 1,178,098 269	4,163 1,084,336 260	2,260 639,926 283	3,584 2,426,881 677	1
	（道外計）	5,346 14,763,326 2,762	827 1,236,297 1,495	439 1,023,433 2,331	609 1,447,707 2,377	268 1,243,462 4,640	1,535 2,001,932 1,304	339 840,433 2,479	158 815,817 5,163	468 1,372,961 2,934	158 1,013,822 6,417	168 1,005,156 5,983	131 910,695 6,952	246 1,851,611 7,527	
2	宮城	31 129,979 4,193					1 630 630			567		4 13,702 3,426		26 115,080 4,426	2
3	秋田	3 51,587 17,196	2 16,223 8,112				10,500		1 3,780 3,780		15,750	3,570	1,575	189	3
4	山形	7,612	5,512									2,100			4
5	福島	1,733	1,733												5
6	茨城	1 13,230 13,230			1,890			6,048	5,292 5,292						6
7	群馬	1,281 730,399 570					1,280 729,874 570					1 525 525			7
8	埼玉	3 21,137 7,046							1 630 630	1 630		2,100	13,577 13,577	4,200	8
9	千葉	51 477,992 9,372	5 49,035 9,807	7 54,506 7,787	21 122,577 5,837	8 104,664 13,083	7 68,901 9,843	2 13,944 6,972				7,770	19,635	36,960 36,960	9
10	東京	961 416,115 433	578 237,300 411	228 88,095 386	155 75,600 488				3,360		3,360			8,400	10
11	新潟	576 548,004 951	41 40,321 983	8 8,348 1,044	46 45,046 979	51 49,771 976	51 48,721 955	51 49,771 976	50 48,826 977	69 55,231 800	50 48,826 977	49 47,618 972	48 46,410 967	62 59,115 953	11
12	長野	367 168,103 458					12 15,225 1,269	150 59,377 396	77 16,642 216	30 24,045 802	22 12,600 573	73 39,374 539		3 840 280	12

第8表 品目別、産地別月別取扱数量および金額（野菜）（つづき）

（上段数量（kg）中段金額（円）下段単価（円））

	品名 産地	総計	1月	2月	3月	4月	5月	6月	7月	8月	9月	10月	11月	12月	
	花き類 (つづき)														
13	静岡	6 10,972 1,829				630	3,570		892				3 2,100 700	3 3,780 1,260	13
14	愛知	1,745 9,017,402 5,168	182 733,899 4,032	163 658,662 4,041	300 979,802 3,266	182 823,240 4,523	161 873,531 5,426	118 572,463 4,851	21 611,436 29,116	352 1,021,234 2,901	71 682,969 9,619	27 569,410 21,089	64 500,218 7,816	104 990,538 9,524	14
15	三重	16 102,249 6,391	3 15,876 5,292	1 5,292 5,292	1 7,224 7,224	10 56,595 5,660	1 17,262 17,262								15
16	和歌山	59 55,913 948	12 11,760 980	6 5,880 980	38 35,333 930	3 2,940 980									16
17	鳥取	4,578				4,578									17
18	徳島	174 2,919,801 16,780	4 119,703 29,926	6 185,115 30,853	12 160,390 13,366	10 185,294 18,529	14 230,820 16,487	14 119,741 8,553	8 130,251 16,281	15 259,494 17,300	15 250,317 16,688	14 318,987 22,785	15 327,180 21,812	47 632,509 13,458	18
19	高知	4,935	4,935												19
20	福岡	68 49,980 735		20 17,535 877	36 19,845 551	4 5,250 1,313	8 7,350 919								20
21	大分	1 630 630									1 630 630				21
22	沖縄	1 12,600 12,600						1 12,600 12,600							22
23	中国	1 2,940 2,940						1 2,940 2,940							23
24	タイ	1 15,435 15,435						1 4,305 4,305		11,130					24
	切花														
	22年	73,084 40,610,664 556	2,375 2,124,074 894	3,018 1,814,459 601	5,245 3,370,367 643	3,961 2,409,293 608	7,225 3,258,980 451	6,259 2,929,491 468	9,986 3,663,254 367	11,577 6,120,649 529	8,874 4,307,639 485	4,567 2,642,664 579	3,084 2,239,216 726	6,913 5,730,578 829	
	23年	64,304 32,871,509 511	3,433 1,708,198 498	3,380 1,691,654 500	5,289 2,587,241 489	4,842 2,045,508 422	8,777 3,470,068 395	6,166 2,833,988 460	5,504 2,388,785 434	9,954 4,607,424 463	6,498 2,941,489 453	3,017 2,420,810 802	2,264 1,858,312 821	5,180 4,318,032 834	
	24年	45,976 24,989,914 544	3,686 1,998,442 542	2,392 1,359,196 568	3,079 1,838,779 597	3,121 1,596,359 511	7,464 2,460,334 330	2,978 1,296,624 435	4,444 1,675,940 377	6,064 3,089,149 509	4,350 2,181,429 501	3,413 1,978,628 580	1,390 1,375,038 989	3,595 4,139,996 1,152	



第8表 品目別、産地別月別取扱数量および金額（野菜）（つづき）

（上段数量（kg）中段金額（円）下段単価（円））

	品名 産地	総計	1月	2月	3月	4月	5月	6月	7月	8月	9月	10月	11月	12月	
	切花 (つづき)														
16	和歌山	59 55,913 948	12 11,760 980	6 5,880 980	38 35,333 930	3 2,940 980									16
17	鳥取	4,578				4,578									17
18	徳島	174 2,919,801 16,780	4 119,703 29,926	6 185,115 30,853	12 160,390 13,366	10 185,294 18,529	14 230,820 16,487	14 119,741 8,553	8 130,251 16,281	15 259,494 17,300	15 250,317 16,688	14 318,987 22,785	15 327,180 21,812	47 632,509 13,458	18
19	高知	4,935	4,935												19
20	福岡	68 49,980 735		20 17,535 877	36 19,845 551	4 5,250 1,313	8 7,350 919								20
21	大分	1 630 630								1 630 630					21
22	沖縄	1 12,600 12,600						1 12,600 12,600							22
23	中国	1 2,940 2,940						1 2,940 2,940							23
24	タイ	1 15,435 15,435						1 4,305 4,305		11,130					24
	苗物														
	22年	16,718 4,829,141 289				591 313,425 530	9,447 4,374,963 463	6,651 125,213 19	5 3,150 630	8 5,460 683		16 6,930 433			
	23年	7,269 2,509,292 345				407 165,344 406	6,778 2,326,833 343	80 16,800 210			4 315 79				
	24年	3,188 1,803,587 566				8 4,200 525	2,979 1,715,071 576	201 84,316 419							
1	北海道	3,188 1,803,587 566				8 4,200 525	2,979 1,715,071 576	201 84,316 419							1

